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Q.18 In Howard Gardner’s theory person high on intelligence can
recognize and are aware of the beauty of different species of flora and fauna.
Options 1. spatial

2. musical
3. inter-personal
4. naturalistic
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Q.20 Which of the following disability causes challenges in ‘social communication’?
Options 1. Dysgraphia

2. Dyscalculia

3. Locomotor disability

4. Autism
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Q.22 Which of the following is a correctly matched pair?

Options 1. Social Contract orientation — Physical consequences of an action determine whether it is
good/bad.

2. Law and Order Orientation — Ethical principles are self-chosen than on the basis of the
value of human rights.

3. Good-Boy — Good-girl orientation — one earns approval by being nice.

4. Punishment and Obedience orientation-Laws are not fixed but can be changed for the
good of the society.
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Q.29 Which of the following is an example of use of gross motor skills?
Options 1. Balancing on one foot

2. Squeezing a pea

3. Holding a pencil

4. Turning pages of a book
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Q.5  While planning a lesson on the concept of addition of fractions a teacher is using the activity of rectangular strip
folding. The above activity is a-

Options 1 past Content activity
2. Pre content activity
3. Content activity

4. Wastage of time
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Q.7 which of the following is NOT a stage / level of Van Hiele theory of geometrical reasoning
Options 1. \/isyalization
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3. Concrete gperation

4. Analysis

Question Type : MCQ
Status : Answered
Chosen Option: 2




Q.8 vt freimr 16 F . B 58 T F TR P H B ARF F | A S A UF Bren =0 e e s 2 w7
Tt ot e i et T B

P 14 o
2 16 B,
3. 18 9.,
4 12 HHT,

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q9 e uie. & Fo w0 FEEH T I 2000 FUTAL, 500 FER A #2100 F = e e ww
I HIEH FeT TR T U X2000 T U A2 1 X100 U i F e 81 F6 0308, F e w e

Tort T ot <
Options 1. 214000

2 X16500
3. X15000
4 X14500

Question Type : MCQ
Status : Answered
Chosen Option: 3

U Srafefied & & FIH_ET U TG T AHA F A H TE AET 27
Options Wwﬂqﬁﬁ@aﬁmﬁ%l
2. AT foaeT SareT | Tl ASed e

TR 5 ST T ST — T 35 ST S i fre 8
Wﬁmﬁﬁ%ﬁmmm@w}w%

Question Type : MCQ
Status : Answered
Chosen Option: 3




Y o e w5 o v vEE
1 ZA,4 YB,9 XC, 16 WD,
Options 1. Q| VE
2 81 EV
3 25 VE
4+ 25EV

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q12 3 5w 2021 1 T T TR T F ORI W S T SRR Tl & S 56 TR
U = T ARG 10 SEEET 2021
Uep T T ARG ® S 180 T 7 suanf 2
frfafes 8 & #7971 wuw w8 22

Options 1.

T ot 6 TEH 1 3R R WA & ST |9 180 & =e e '
2. Yohe 10 57 2021 T T T FoAT A1 36 I€ Woh &l =120

3.
I Yo e ST FTET, 11 WA 3 G 8 3h T4 o =51 2

ﬁhws@maﬂm@m%%ﬁeﬁtﬁﬁﬁ%

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q13 vz rew w1 AT w9 W 23,57 C 3N €| Tl T e AH 0.7 C = IR S S AT oA T AT
17.2°C W w3 o2

Options 1. 3-00) am
2. 2:00 am
3. 6:00 am
4. 5:00 am

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q14 mrgFrRF IR T AR Y TE IR H L § v A 2 o d 12 953 o 2 s s 0 T o
T U 5 A2 59| TH o Forae o2t o erraaehar & e swe 10 2 W T o E SEr A =

Options 1 5
2. 7
3. 6
4 R

Question Type : MCQ
Status : Answered
Chosen Option : 2

O S yIFE AT AT g &

Options 1.

T it SETaTT i G ST ST 5 3 it el we § S I T8 W W S S 2

2. 178 A 184 3 = 4= Q0T HE=AT 3l A1Gw,
3. UHT U1 SREATeAT 3 S WEET Al Wl ST (o A 50 T

e et ST T v i et o A 36 R, B

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.16 TSR 327 R e G o R AT w9 o SAAd (o £ AT S 52 i SATs =TS S SIS 639, 3 59
#3703 89, 71 3.5 iex 1 A o T 84 it F et aeat et

Options 1 46
2. 58
3. 64
4 42

Question Type : MCQ
Status : Answered
Chosen Option : 2




Y Fmm AR o e A s s A A wEd R
Options1. ﬁﬂﬁl‘

3

2. E@W
3. "oHd
p Rt

I GEEl

R

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.18 ez =2 W ot = 3 e wiera shaeT: 22 30 Fvg, 45 Sve, | e ofit 75 e ore waet ot B afe e
Sl TR T SRR 1135 pm O SEeTl £ 6 ST S Se o Uk S ey, o 96 2

Optionsq 1:55 pm
2. 1:50 pm
3. 2:05 pm
4. 2:10 pm

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q19 \What will come in the blank? 2 thirds + = 11 twelfths

Options 1. 1 third

2. 3 twelfths
3. 9 thirds

4. 13 twelfths

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q20 o Forerss et =it T F1 WS A ST A A F WA A B U G FFE FA L F AT
SNIF ST &

Options 1 D\FE E

2. Tgeeumeger fafer
3. SIMTHT fafer

4. I (fuT)

Question Type : MCQ
Status : Answered
Chosen Option: 1

' e wETy P S SR GHiE o i

Options

1.60°,120°, 180°, 240°, 300°, 360°
2.90°, 180°,270°, 360°
3.120°, 240°, 360°

o]

4.60°,120°, 180

Question Type : MCQ
Status : Answered
Chosen Option : 1

V2 L3 T iRt 3R TR ST WIS o e
Frefefes & 5 9 ST F9E 9 =
15, 8, 13, 1.

OPHONS. mrer ST ETTRLTRT AR THE &
2. T ST | ATF 2
e T STA TE AT I FFAT T AF AT
4. TTieTeRT AT | ATF 2

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.23 o =1 AR U WHE U AT S AU W % S YA W A0 2 w0 e (7)) #1 aw
ToreT & T R ST 2| T AT e B T AT S9ge A T4 27

Options 1.
aﬁaﬁﬁ%ﬁmﬁmﬁwaﬁﬁ%aﬁaﬁmwﬁwwﬁl
2.
TE =TEA & 3 et wvue 3 T o Tt S easgeaT w9
3.
T2 fenfian =1 ramefer nfafafimT & = wamr 9 2, =it i F e ms e 2
4.
TE 10 Tt = o faam =vedt & o v e % g o T ue A a6 e s e

Question Type : MCQ

Status : Answered

Chosen Option : 2

Q24 1fore & Foriew i ATIF gt % AT HEferd ArT-
a. DT T ST Fae 0 g wiegfe|
b. e = e TR UTH el Shi WA AT AR 3 SR Fa FIHIEH T T 3@
c. FEYU ¥ F T At )
d. TITOTA 7 AT 3 =HaH T A T
e farshed 7l
Options1. (a]aﬁ_{_(c)
2. g (b)
* (b) 3 (d)

4 (a), (b), 3 (d)

Question Type : MCQ

Status : Answered

Chosen Option : 1

Q.25 ez yruferer forrera 2 TIfTA 2T SRR 3 S0 BT AR B (HETT) e = e e =it g e
HIO =1 T g = v
T A 1 T S T 91 S e we # $ W ¥ e gfae e (S T5S
FEAT 2| FET ST T TR A T R HAIA F FAT 27
Options 1.

& i1 UGTE T §9 TR 5 IR I € A9 AN F F=a A G F I H T 37 g ad F
AT SATRISA FAT =T

2.
ST 9T FT STINYFT T T TR 3 TT6a] F 1] 1 IS AT H4T T I3 3 (70 e |
3

Wﬁww%mﬁﬁﬁvﬁﬁmﬁ%wmaﬁmﬁtmﬁﬁaﬁww%%@m
=)

4.
STATII=RT =T £ T2 ST =10, 112k T AT W4T T STTE Hial a1 I 700 T THW o T 168 =g |

Question Type : MCQ

Status : Answered

Chosen Option : 1




Q26 Crofafgs & & 19 9T % =T WeaT g7 20 T S SETee 3 SR o 16
PN e A R
2. ST T

= &
3. YTSHT =T F=TAT AT

a g?:a‘lamaﬂm

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.27 sremiverr ===t =1 3 T 2t & o e e, e A, v fopara, e e o T o v e e &

o5 1 v v w1 wE 5 o e & T e v i E, S el 3 e 5 S w6 e we
2

PPN . 7ot o1 ST TR ST SITET 1o 36H A B 2

2.
Tt T =T fo ST e it e et = e e o= 2
3.

T i T = e fe S e, T A A, A S HE S W 6 5 A S
T R

e e < o e = i e e & ST B

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.28 o wor foyms ot o & 2 Foret 500 e =g, 3 feet 250 i et ot 4 PRt T T 1 T § AW

ﬁa@ﬁ%@%ﬁmﬁmﬁaﬁaﬁmmﬁomﬁmﬁmﬁaﬁmmﬁ%%ﬂ%mﬁﬁﬁ%ﬁ
AT BT

Options 1 12

2 14
3. 15
4. 13

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.29 oefier urgEemt FUET (2005) HHAT 2 2R 71U H <TeiE S0 AehoT 1 ek T e STEtE B Tw gre sird

=61 =1 e B
Options 1.

WWWWWWWW,W&WWW%WW,W%WHW
2. T 1 TR ST RTE T

3. TITOTe %1 T TTT TER! F AT oRgE

4. UTET TETH H S TS FATAT / AT ol T HA T AA S

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q30 A class Ill teacher reads out the following problem to her students
"It | subtract '2 ones' from '2 tens' what will be the answer"
One of the students responded the answer is zero.
Which of the following statement is correct for the above context ?

Options 1 Teacher should give 10 similar problems to practice
2.

Teacher should ignore the response of the student and should herself give the right answer and move to next problem
to solve

3.

Teacher should use concrete materials to strengthen the concept of place value in student

4. The answer given by the student is correct
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Chosen Option : 3
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Q.4 Which of the following statements is true in relation to Environmental Studies at primary
level?

Options 1. The language used in the EVS textbooks are formal.
2. It is based on a single subject approach

3. This subject is there in classes | and Il and issues and concerns related to it are give
through Language and Mathematics.

4. Environmental Studies (EVS) in Classes Ill to V as a subject integrates the concepts and
issues of science, social science and environment education.
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Q.5 Indance the main poses and expressions demonstrates
Options 1. confidence
2. dance performance
3. feelings
4. hand and face movements
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TEIITT 3 STTER “Tee UHT & Fehal 2
1. 99 gRT
2. </ g

3. qiverg 3T
4. fifF g

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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SubQuestion No : 14
1 i ok AR T o o TR e T T
. TR E SR A
2. TE I S A
3. YT & wfeEmeft &
4. | T U B

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

e - frefeAias TeitsT i Uee 9o 7T 74 3 o0 e 309

T = =a= Fifem]
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EEeaCR o et A ke
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T 3% ST 2 7 W
UET ¥ 91F 019 IEE,
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UL U= & STaT 2l
U7 S UF H U T
% fou gmat & o,
S § S AT 2
Fider = i =,
ST AT ET AT 2
Tt T & T 2|

SubQuestion No : 15

O i adE.

l. ¥R

2. dglal

o

3. FrueF it FTEr

4, Eg:ﬂlT
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1
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2. AT e
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Options 1. 1
2.2
3.3
4.4
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Question Type : MCQ
Status : Answered
Chosen Option: 3
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Options 1. 1
2.2
3.3
4.4
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2. 3T
3 'ﬂ:l?i
4. FHwoT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 2
Q.24

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Options 1. 1
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
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Question Type : MCQ
Status : Answered
Chosen Option : 1




Q28 oy T SUTT T <A ¥ T v S 3 w9 5 4 e e s 8

1.
2. AE
3. STEA-Fiea
4. fg=
Options 1. 1
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Question Type : MCQ
Status : Answered
Chosen Option: 3
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Options 1. 1
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Options 1. 1
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Section : Language Il




Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 1

Q1 “gahu is a hearty eater, consuming up to 108 chapattis.....
How does the word ‘up to’ quantify the consumption?

1. It denotes an accurate statistics of consumption.
2. It gives the upper limit of consumption.
3. It sets the minimum limit of consumption.
4, It sets a good conjecture around consumption.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 2

Q@2 Chacha Chaudhary is an unlikely hero because of

1. his age
2. his appearance
3. wisdom
4. Both1and?2
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 3

Q@3 “His movement from the village to the town paralleled
urbanising trends in India”.
Here, if the word ‘paralleled’ which is in the past tense is to
be replaced with past perfect tense. Which one of the
options given below would be apt?

1. parallels
2. has been paralleling
3. had paralleled
4. is paralleling
Options 1. 1
2.2
3.3
4.4




Question Type : MCQ
Status : Answered
Chosen Option : 4

addazy




Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 4
Q@4 Raka has been defined as the arch-enemy of Chacha

Chaudhary. Which of these word can be used to make a
similar connection between the two?

1. Alter-ego
2. Ally
3. Anti-hero
4, Adversary
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 5

Q5 which of the following statements is false?

1. Superhero comics that followed Chacha Chaudhary
had urban settings generally.
2. The target audience of the comics were the young
readers.
3. Diamond Books launched it for the first time in the
form of a book.
4. Chacha Chaudhary and Sabu appeared in Lotpot
series for the first time.
Options 1. 1
2.2

3.3
4.4




Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 6

Q@6 wWhich part of speech is the underlined word in
“never resorting to extreme violence or guns”

1. Adjective
2. Adverb
3. Modal
4. Conjunction
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 7

Q7 which word, from these options DOES NOT MEAN
‘injustice’?

1. unfairness
2. cruelty
3. corruption
4, misadventure
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the following
questions by choosing the correct/most appropriate options:

In 1969, Chacha Chaudhary and Sabu, a duo who combined brain
and brawn to fight the injustice in society, was unleashed onto
comic land by Pran, first as a cartoon strip produced by Mavapuri
Group's magazine, LotPot . in his first comic, Chacha Chaudhary and
the Pocket Thief (1971), the unlikely hero was depicted as an elderly
rural man. Chacha Chaudhary was later adopted by Diamond
Comics and released as a comic book in 1981, a change of
ownership that also led to him being transformed into a respectable
urban man whose role was to teach family, cultural and national
values to the younger generation. His movement from the village to
the town paralleled urbanising trend in India along with increasing
migration from rural sectors.

Accordingly, Chacha Chaudhary and his coterie took on the
moral dilemmas and criminal dangers of urban settings from the
1980’s. Although the places did not acquire a high-rise and fast-
paced metropolitan ambience until the rise of superhero comics
later in the decade. Chacha is a man with a snow white six inch wide
moustache. He is dressed in a white shirt, black Jodhpuri waist coat
and a traditional red turban. His loyal companion is Sabu, a good
natured 15 foot tall power pack. The friendly giant comes from the
planet, Jupiter, and was lured to stay on earth through the delicious
draw of Chacha Chaudhary’s wife cooking, particularly her
flatbread, parantha and sweet halwa. Sabu is a hearty eater
consuming up to 108 chapattis and up to 20 litres of milky lassi a
day. Anytime the hulk of a man gets angry, a volcano erupts in the
distance, and he would cry, ‘Ha-Huba’, as he performs his
extraordinary feat. Chacha, by contrast solves all problems with his
sharp intellect, never resorting to extreme violence or guns. At the
most, physical violence consists of the irrepressible Chacha using his
bamboo stick to whack an enemy, often Raaka, his powerful and
scheming archenemy.

SubQuestion No : 8
Q@8  The pair of Chacha Chaudhary and Sabu is the synthesis of

brain wit and physical strength respectively. So the pair
embodies an interdependence which can be appropriately

called-
1. symbiotic
2. synthefic
3. empathetic
4, systematic

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ




Status : Answered
Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions by choosing
the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,
when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,
had been given permission to dream big dreams.

| was at camp that summer, and after the lunar module landed,
all of us were brought to the main farm house, where a
television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,
a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad
had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that
photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past
their bedtimes.

SubQuestion No : 9
Q9 Which part of speech is the underlined word.in the

following sentence?
| was completely peeved at the camp directors

Options 1. 1
2.2
3.3
4.4

LS -

Adjectives
Conjunction
Pronoun
Adverb

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions by choosing
the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,
when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,
had been given permission to dream big dreams.

| was at camp that summer, and after the lunar module landed,
all of us were brought to the main farm house, where a
television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,
a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad
had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that
photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past
their bedtimes.

SubQuestion No : 10
Q10 The word, ‘peeved’ in para 4 means

Options 1. 1
2.2
3.3
4.4

W

disappointed
exhausted
annoyed
amazed

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the following passage and answer the questions by choosing
the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,
when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,
had been given permission to dream big dreams.

| was at camp that summer, and after the lunar module landed,
all of us were brought to the main farm house, where a
television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,
a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad
had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that
photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past
their bedtimes.

SubQuestion No : 11

Q@11 The author’s optimism that “pretty much anything was
possible”, most explicitly springs from

Options 1. 1
2.2
3.3
4.4

N

his childhood.

the first Human Steps on the Moon.
the space message from the Moon.
the summer camp idea.

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the following passage and answer the questions by choosing
the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,
when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,
had been given permission to dream big dreams.

| was at camp that summer, and after the lunar module landed,
all of us were brought to the main farm house, where a
television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,
a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad
had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that
photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past
their bedtimes.

SubQuestion No : 12

Q12 which of the following weords is the most opposite of the
word, ‘inspiring’ in para 6 of the passage?

Options 1. 1
2.2
3.3
4.4

1. offending
2. disturbing
3. discouraging
4. confusing

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the following passage and answer the questions by choosing

the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,
when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,
had been given permission to dream big dreams.

| was at camp that summer, and after the lunar module landed,
all of us were brought to the main farm house, where a
television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,
a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad
had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that
photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past
their bedtimes.

SubQuestion No : 13

Q@13 The boy shows patience even in the most excited moments

because

Options 1. 1
2.2
3.3
4.4

the television in the farmhouse was remotely
connected to the lunar space.

he did not want to sleep.

walk on the moon demanded a lot of technical aid
and equipments.

the astronauts were less organised, hence needed
more time.

Question Type : MCQ
Status : Answered




Chosen Option : 1

addazy1




Comprehension:

Read the following passage and answer the questions by choosing
the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,

when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,
had been given permission to dream big dreams.

| was at camp that summer, and after the lunar module landed,

all of us were brought to the main farm house, where a
television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,

a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad

had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that
photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past

their bedtimes.

SubQuestion No : 14
Q@14 The photo of Neil Armstroeng was the stimulus for the boy’s
big dream. Which of the statements given below states

otherwise-
1. The boy missed the (TV) Live moment during the
camp.
2. It symbolised triumph of human will.
3. An inspirational model for future generations.
4, The world rejoiced at Neil Armstrong’s unbelievable
sUCCess.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered




Chosen Option : 3

addazy1




Comprehension:

Read the following passage and answer the questions by choosing
the correct/most appropriate options:

Men first walked on the moon during the summer of 1969,

when | was eight years old. | knew then that pretty much
anything was possible. It was as if all of us, all over the world,

had been given permission to dream big dreams.
| was at camp that summer, and after the lunar module landed,
all of us were brought to the main farm house, where a

television was set up. The astronauts were taking a long time
getting organised before they could climb down the ladder and
walk on the lunar surface. | understood. They had a lot of gear,

a lot of details to attend to. | was patient.

But the people running the camp kept looking at their watches.
It was already past eleven. Eventually, while smart decisions
were being made on the moon, a dumb one was made here on
Earth. | had gotten too late. All of us kids were sent back to our
tents to go to sleep.

| was completely peeved at the camp directors. The thoughtin
my head was this: “My species has gotten off our planet and
landed in a new world for the first time, and you people think
bedtime matters?”

But when | got home a few weeks later, | learned that my dad

had taken a photo of our TV set the second Neil Armstrong set
foot on the moon. He had preserved the moment for me,
knowing it could help trigger big dreams. We still have that

photo in a scrapbook.

| am a scientist who sees inspiration as the ultimate tool for
doing good. When you're putting people on the moon, you're
inspiring all of us to achieve the maximum of human potential.
Give yourself permission to dream. Fuel your kids’ dreams too.
Once in a while, that might even mean letting them stay up past
their bedtimes.

SubQuestion No : 15

Q15 wWhat “dumb decision” was made on earth?
A. Send the kids to the tents to sleep.

Options 1. 1
2.2
3.3
4.4

B.
C.

It was great to see man stepping on the moon.
To prevent kids from watching the progress of man's
first steps on the lunar surface.

D. People looking at their watches again and again.
Choose the right option:

ol

AandB
AandC
AandD
Band D




Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.16  Ateacher is using intensive oral interaction in target language as a way of presenting language. This method is known
as-

(1) Natural Method

(2) Classical Method

(3) Bilingual Method

(4) Audio-lingual Method

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 1
Q.17

Language develops among children once they interact

1. with others
2. with physical objects
3. with self
4, remain silent
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.18 Select the odd one about ‘Interacﬁﬂnal Model of language’

1. Language as a vehicle for the realization of interpersonal relations.
2. Language as a means to perform social transactions between individuals.
3. language as a means to conveying and receiving authentic messages.
4. Language as a means for interrelatedness of grammar and vocabulary.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Q.19 Inspite of its complex nature, ‘language is acquired with the help of innate grammatical knowledge’. This idea refers to
the theory proposed by-

1. Stephen Krashen
2. Noam Chomsky
3. Lev Vygotsky

4. Jean Piaget

Options 1. 1
2.
3.
4.

A WON

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 Rohini wants to present content before class students. Which of the following points should she consider?
(i) use of teaching activities (dialogues and information gap etc.).
(i) demonstrate formal communicative and other aspects of target language.
(iii)  provide proper scaffolding whenever necessary.
(iv)  try to develop a habit of drilling.

1. (i), (i), (i)
2. (i), (i), (iv)

3. (i), (i)
4, (i), (iv)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.21 Which one of these is not true about language acquisition theory by Noam Chomsky?

1. Deep structure of language.
2. Transformational grammar.
3. Language Acquisition device.
4. Prime role of child’s environment.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q22 \Which statement is true about Piaget?

Thoughts precedes language

Language precedes thoughts

Language and thoughts are independent

Language and speech are merged around the age of three

ol ol e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q23 patch the following.

Column A Column B
A. Input hypothesis A James Asher
B. Total Physical response B Prabhu
C. Task based language teaching C Stephen Krashen
D. Language and Mind D Noam Chomsky
1. A-B, B-D, C-C, D-A
2. A-C,B-B, C-C,D-D
3. A-D, B-C, C-B, D-A
4. A-C,B-A,C-B,D-D
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.24  (onsider the statements (A) and (B).
(A) Language is linked with thinking process.
(B) Language helps to structure discourse and practise discourse functions.

1. (A)is true, (B) is false.
2. (A)is false, (B) is true.
3. Both (A) and (B) are true.
4. Both (A) and (B) are false.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.25 (onsider the statements (A) and (B) regarding paralinguistic features of a language.
(A) Volume is not just, what you say; it is how you say.
(B) Intonation means vibration of voice or speech.

1. (A)is true, (B) is false.
2. [(A)is false, (B) is true.
3. Both (A) and (B) are true.
4. Both (A) and (B) are false.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.26 Alanguage teacher w;_;rits to assess the performance of the st'udents;on a group project, then the parameters of
individual performance assessment should be based on

. the performance of same age peers.
. each student’s own previous level.
. level of group’s performance.

. common criteria for all.

W e

Options 1.
2.
3.
4.

A WO N =

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.27 Ateacher instructs students to follow these steps during reading an article:

Find or write a topic sentence for each paragraph or section; identifying big ideas that cover several specific points;
find some supporting information for each big ideas and delete any redundant information or unnecessary details.
Which one of the strategies the teacher is using here:

(1) Identifying
(2) Summarizing
(3) Predicting
(4) Clarifying

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.28 If students of a class use limited vocabulary during communication, what will be the best way to enhance their
vocabulary?

. Ask students to make a list of synonyms and antonyms of usable wards during communication.

. Ask students to read more books and write down the words from them.

Ask students to read the text aloud twice and thrice in a day.

. Ask students to communicate in groups and allow them to replace used words with new suitable words.

oW b

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.29 When children talk either to themselves or for the pleasure of associating anyone who happens to be these with the
activity of moment, he/she is involved in

. social speech

. privates speech

. ego-centric speech
. individual speech

BwW N e

Options 1.
2.
3.
4.

A WON =

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.30 The language acquired from birth by a child with the help of family members is known as:

1. First Language
2. Second language
3. Regional language
4. Foreign language
|Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

addazy




